 PHYS 211
Problems from Chapter 8
Change in potential energy, ΔU is defined as being equal to the negative of the work done, W on the object by the force.  [image: image9.wmf]W
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	••38.  
	The potential energy of a diatomic molecule (a two-atom system like H2 or O2) is given by 


[image: image1.png]
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where r is the separation of the two atoms of the molecule and A and B are positive constants. This potential energy is associated with the force that binds the two atoms together. (a) Find the equilibrium separation—that is, the distance between the atoms at which the force on each atom is zero.


	

	•49.  
	A 75 g Frisbee is thrown from a point 1.1 m above the ground with a speed of 12 m/s. When it has reached a height of 2.1 m, its speed is 10.5 m/s. What was the reduction in [image: image3.png]Hoee



of the Frisbee–Earth system because of air drag?

	


	101.  
	A 60.0 kg circus performer slides 4.00 m down a pole to the circus floor, starting from rest. What is the kinetic energy of the performer as she reaches the floor if the frictional force on her from the pole (a) is negligible (she will be hurt) and (b) has a magnitude of 500 N?

	


	•••36.  
	A boy is initially seated on the top of a hemispherical ice mound of radius [image: image4.png]


. He begins to slide down the ice, with a negligible initial speed (Fig. 8-49). Approximate the ice as being frictionless. At what height does the boy lose contact with the ice? 
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